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Digital Twin: Virtual representation of a physical system

nteriwin

-Co-designing and prototyping an interdisciplinary Digital Twin Engine.

-Aims to provide a versatile platform that can be used for various scientific applications,
such as climate modeling and particle physics simulations.

-Crucial in handling data  -intensive and computationally demanding tasks, making it a
key tool for researchers dealing with large -scale simulations and predictions.
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Use Case
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Hyperparameter

optimization

=) Involves fine-tuning the parameters of a model to achieve the best performance
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Baseline - Reference point for comparison sake with intertwin integration
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Loss History for Different Learning Rates and Batch Sizes
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Training Loss Ir=0.0001 batch=64
Validation Loss Ir=0.0001 batch=64
Training Loss Ir=0.0001 batch=256
Validation Loss Ir=0.0001 batch=256
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Next steps
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Simultaneously
synchronized

Take note of the differences in model perfomance for the baseline model and when
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